GOVERNMENT
FINANCES
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FISCAL POLICY IN INDIA

The government does not perform any business §
the government has to raise the money from t
money in terms of requirements an
primarily through ‘taxes’ and the spen
affects either the manner in which the gove

‘fiscal policy’. The objectives of any

(1) To ensure that the ex
boost growth for the welfare of the people.

(2) Expenditure being incurre

(3) There should be efficiency in the way of re

(4) Efforts are to be made to avoid wastefu

(5) Resources being raised
the common man.

—

o it cannot carn money to spend. thct
he economy to enable it to spend [h.
d national priorities. The government raises monar.
ding known as ‘public expenditure’. A policy wh;i
rnment raises resource or spends is knﬂwn

fiscal policy of a country are as follows: e

d should not lead to a price rise situation.
sources that are raised and spent.

] expenditure in the economy.

(6) Taxation should be just and helpful in reducing income inequalities.

(7) The policy should aim for overall improvement of the welfare

In India, there is no fiscal policy by the name; however, the objectives of those are being
achieved by the annual financial statement popularly known as the budget which §
tabled in the parliament. Hence, budget is not merely the details of expenditure ax
taxes but is also a policy tool to sub-serve objectives of a fiscal policy. The budget.
is more than a balance sheet of government receipts and expenditures presented &

parliament.

of the economy

PUBLIC EXPENDITURE OF GOVERNMENT

Public expenditure is spending by the central government. Broadly, t
of expenditure—one is plan expenditure, which is expenditure ear mar
in different areas, in the five-year plans for various sectors of the e

be either capital or revenue in nature. Capital expenditure rep
in an economy and is thus desirable for growth. For example,

conomy. Thest

for
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nital expenditure. Revenue _
w plal“ is a cap I re. Revenue expenditure is recurring in :
nature
up Poenancf‘ etc. d re, for
Hill . -nl; expe H BEPE, So O MHTI
m“";_le other 1° st plan &4 L:; iturc which is an expenditure not covered in the f
as incur F Aol . In the hve-
ut ¢! has t0 be T dn;i ‘;:’“ld again be cither revenue or capital. In | 1I'c
the t : - InIndra,
otal expenditure whereas plan expenditure is

n .
e Plﬂ o pcndif““—' is 70 per cent 0
an* £ 5 ; .
/ e, The highest expenditure s non-plan revenue expenditure accounting f
Ing ror

[lon’ ce
v 0 r .
onb) 3 ‘P;t of rotal expend:ture.
1r [
B3P . are the components of non-plan revenue expenditure’ The first is the inter
: est
f the loans taken by the central government both internal and

What &% .

e servicing ©
2y . - ” )
P ) accounti for over 25 per €€t of the total expenditure. Secondly, subsidies

na . . ;
C)‘:;d ertilize™® and retai pc_rroleum goods). Thirdly establishment expenses of defense
(00" . Joans t© state govcmmems/ UT, establishment expenses of central government

allf[hly" " :
K on 10 dcfcnce/ccntral government retired personnel. Expenditure on these heads
n .

B Jld sccount for over 90 per cent of non-plan revenue expenditure. These expenses are
e 2s consumption of the government as no assets are created.

zlso known
e THE GUVERNMENT s i

ut of receipts by the government through various
liability for the

which do not create any interest

not representing borrowings) and the other
ent or less certain of their receipt or
¢ and 10 per cent is capital receipts.
84 per cent of toral receipts). Taxes

The expenditur in an economy is met 0
cources. 1he receipts could be revenue (

overnment regularity i their receipts and
a5 capital (either creating 2 Jiability for the governm
b orowings)- Of the rotal receipts, 90 per cent is revenu
The primary source of revenue receipts is X revenue (

could be € ther

ax where the subject 0

¢ tax? Direct tax jsat
the taxand the tax burden cannot
wealth tax, etc. In case if the subject

ndirect tax. Common examples

direct or indirect.

How to distinguish direct tax
whom the tax has been levied is identifiable,
corporate axes,

be shifted. Examples can be income X,
is not identifiable or if the burden can be shifted it is an i
ufacturing activities), customs duty (duty on

are excise duty (payable by companics 01 man :
import of goods), service tax (tax on services bel dered by service proxlfldcrs), etc. F
Fifty-five per cent of the tax reventt irect Taxcs while 4'5 per cent 0

the revenue is from indirect raxes. The : -h the tax is applicd for indirect faxes
. ceicular attribute (length of staples

fﬂu-ld cither be on value (ad valorem
in cotton). India primarily follows an
Certain taxes are levied by the central
collected by the central government (income £ custo
tay), certain taxes levied by the central governmen! .
(central sales tax levied on intef-$ goods). A few othcr.t'-z
zuﬁaeld by the respective Statc govern
tertainment tax and agricultuﬂ: tax).
The basis of sharing the tax revenue

the
finance commission. The thirtccnth finance €0 missto”
i ;s effective 11
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vich is imposed for addition,)
1 the absolute amount o
te is T 100 th

¢ €N the

one is the surcharge wi
Lional pereentay
e and the

There are two additional raxes
revenue considerations lxy impnsing an addi
is 9 per e

T 105.

¢ 01
= tax pa ﬂh
fax pay able. SU})pOSL‘ surchnrg{: on o nx pay

total tax liability including surcharge would be |
application as the surch

for spcciﬁc ﬁmding;’cnusc li

C 1 i 0[11 3
{ education )'“c d-w',dcnds reccived b
: Y the

te governments etc. Similyy
s of loan, grants, assiﬁ‘tany‘
Ce

arpge except that the amoyy,
] L

The other is cess which is similarin ke education ces
* Sy th
e

collected by way of cess is meant solely
ngo
cher than taxes
finterest by the sta
f recoverie

amount collected would go for fundi
Components of revenuc receipts ©

p:1ymcnt o

— government from public secror,
prises ]

capital receipts of the government com
received by the government €tc.

________________________________ e i .
WAYS AND MEANS ADVAN CES

the receipts of an economy is tha, || g

¢

ure and

cime like direct taxes would be by the end of e

rred immediately. ' ach

smatch between government’s recy;
Pt

s mismatch the Reserve By
of

of cxpendit
period of
nditure as to be incu
orary mi

An interesting characteristic
receipts come with a lag over a
quarter while committed expe
That is, for example, if there is a temp h'
and expenditure in a financial year and to meet i e
India provides temporary overdraft to the governmen gh the ‘ways and mey,

advances'.
This overdraft facility is for
20,000 crores during April to Septem

i

a time period of 90 days urtd. the amount of ovetdiyg,
ber and T 6000 crores during October 1o March“

—

< MM
m NATURE OF GOVERNMENT BUDGET

Thus, so far we have discussed the expenditure and receipts. What happens if expendity,
exceeds receipts? It would result in a deficit or otherwise in 2 surplus and if both mag,

then balanced.
What is good for an economy—32 deficit, surplus or a balanced budget? To answe ti

question, a few aspects should be understood. There is a difference between personl and
government budget and that being in a personal budget, spending is strictly in accordane
with income. However, in a government budget, it is important to understand th
expenditure is seen first and the reason for receipt is because of the need for spendingin
the economy. That is, a government budget by its very structure is deficit-oriented.
Only in an economy where receipts surpass spending can there be a surplus or the
government scales-down spending to match the receipts. This could drag down growt
as lesser expenditure is taking place. More so in India, given the inflexibility t b
down non-plan expenditure, any reduction in expenditure would imply lessr &
expenditure and expenditure on social sector.
A balanced budget is good only if the budget is seen as a balanc
accounts of the government of India. A better thing can be a balan

which is an incremental increase in expenditure in any given year is me

e sheetora statcmelm Df
ced budget mulﬂph;
g

touto jncre™®

increase in receipts in a given year.
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OVERNMENT FINANCE
NATURE OF DE

onents of ex

Receipts

Revenue receipts

Capital receipts
(of which market
borrowings of the

govern ment)

3 Total receipts
(1+2)

From the above examp!

(1) Budgetary deficit
(2) Fiscal deficit is tot
expenditure X85
(3) Revenue deficit i
(4) Primary deficitis
sign before the d

Since economies have
discontinued. Of the
being potentially mo:
deficit implies borrov
to create assets. Borr
can service the borro
In India, 70 per
[ztimal'y deficir, on |
hiscal deficit or how
A high primary ¢
tl‘}e interest paymer
high fiscal deficit is
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could([; much of de
e the ‘safe’ |
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NATURE OF DEFICITS o

‘"s e CX‘ L’““& i ‘.) 1 1
T tt t'IC W l 1 b

? il‘l émres

ipts Expenditure
Re Tin
iDts. 90,000
I Revente receipts 4, Non-plag fevenue expend; Crores
; - 2) (interest Paymeny) iture 90,000
ical receipts (10,000) 2. Non-p| i (50,000)
. WGP : Plan capital expend;
“ (of which market e R5800
porrowings gkt
govcmmf“t) '
Plan capital expenditure
= 50,000
; an revenue expenditure 10,000
Total receipts 1,00,000 8. Total revenue expenditure :
1,00,000
s (4+7) |
9. Toral capital expenditure (5 + 6) 75,000
10.  Tortal expenditure (8 + 9) 1,75,000

From the above example, we acquire to know various kinds of deficit.

(1) Budgetary deficit is total receipts (3) less total expenditure (10) 75,000 crores).
(2) Fiscal deficit is total receipts (but excluding government market borrowings) less total
expenditure X 85,000 crores). .

(3) Revenue deficit is revenue receipts (1) less revenue expenditure (8) (310,000 crore‘s).
(4) Primary deficit is fiscal deficit less interest payments (4a) (_? 35,000 crores) (A negative
sign before the deficit would indicate surplus).

Since economies have begun targcti ng the fiscal deficit, usage o:f budgetﬁ'ryhd:ff; }exassa:)i:;
discontinued. Of the remaining three, fiscal, revenue and primary W ;ﬁcw. B
being potentially most dangerous? It is not the fiscal but the revenue

0 assets
' et created and the
to create assets. Borrowings per s¢ are not bad as long as. assets g

can service the borrowings. .« is accoun
In India, 70 per cent of the fiscal dCﬁClthlS P

primary deficit, on the other hand, tests for the s¢ onsible for the fiscal

fiscal deficit or how far the interest payments S on account of .ﬁ‘

Ahigh primary deficit would mean that A low primary deﬁcit. m]ndia.

¢ interest payments and seructural in pature which s the case I

high fiscal deficit is on account of interest p2 dget is

; e natu
Hence we started by saying that th

+« contrib
but tog much of deficit is also bad as1t¢

could be the ‘safe’ level of fiscal deficit.

- i S
ted for by revenue deficic. T:i
ards

ty of interest p ments oW

deficit.
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ood
. : . ith a balanced kb ishcd g |
A.ba-su thmh rule is it should be under 3 pef cent of G‘TPW:::“ make cxpc;:;fig“ ﬁn‘;e o be3dt
multlpllcr. rh(‘m arc \r;lri('.“s Cnn]rn]lsinns l'll‘ lht‘ gtwcrr.\i'ncl‘\ln ““ci“,wclfgrc ;,c’h ““"Q ha Aﬂ initiat
control difficult CSP[‘(‘id“)’ given their rcspnnsihi“tl(‘..‘i or eme, 4 2 [ax(
infrastructure development, etc. T s add®
Still th sl t'n : t. <1y the above had set definite timMe frame for redugg, urChascd' b
till the government 1 line with e ( ) nﬁihﬂhy and PBudger M"‘nagt ! P der € .
=3 ws i e $ 3 !

the fiscal and revenue deficit under the Fisc al Resp by 0.5 per cent every ye Men, : PRy
: . f revenuce deficit DY Y year g, d Sgr\rlce
Act (FRBMA) for graduall reduction ol 1€ T 1 deficit (he aim was to be g
08. In respect of hsca t‘Qd“Q : CENVAT,

brought down to 7¢ro by 2007-2008. 5005- Clearly, the targets haves iy ( .
by 0.3 per cent every year beginning from 2004 o % hctr, A ?;}m
achieved. ; | stimulus package tc vAT. x
oo during 2007 required 2 fisC® * Lo 1O Chibute g, al an

The global crisis initiated ¢ E ession and 2 consclous decision taken t, " Ben® .

¢the Indian economy does not slip 1nt© a rec e O rel,, “Why

3 % i 1
the FRBMA pro visions untl thrﬁ Slma-tll)(lm;;d dZﬁcits have to be checked the on) ,cplaccmf
If the expenditure needs are mﬁe:}:l Cthg govcmme“t t-as focused through taxy Way . Jifferent
y i re r
to augment the receipts and this is W eof receipts for the government as it oﬁett;fw. roduct ¢
with the taxes being @ major so“;: the tax © GDP ratio which is presently arq % a5 SOMC &
. - re Und 1, .
tential. There 15 2 need to in¢ e fthe economy there should be proportionag nd | 1f in
per cent especially given the growth © ely h;g‘  state V
increase in tax revenue. - _ chat stat
o e [ L —————————— Sta[e
I e ES -y
13.6 RGN EFORMS—INDIRECT TAX o
. - i ibute a ‘
A mentioned prewously that indirect ta.xf:s cor'ltnd e 'Dl-(:-ut 1.15 per cent of £
rax revenue. A major source of indirect taxes is exc:_c uty which is payable on 2 T
. . . - i

of manufacturing sctivities in the economy. Excise duty like other indirect taxes y, d
inherent structure is regressive in nature. : 3) T
For example, the excise duty on salt is 10 per cent ont a factory price of 10wy a
salt is T11 with an excise of T1 per packet gy 2
@

for a packet of
%11 is being paid by a person who is carning 35

to the government. The price of

per month and-also even by a person whose earning is %1,00,000 per month. T:

cax burden is higher on the people with lower incomeé and that is what is mea}
Thes

to dift in ta

means the retail price

th multple rates giving risc

regressive.
Secondly, multiple excise structure Wi
interpretation on tax payable giving scOpe for evasion, litigations and revenue losv? as p:
government. serv
The third issue in excise is the cascading effect of taxes. For example, Maruti buyst® tax
from MRF company. The purchase price of tyres from MRE would have 3 compt™ GS
of excise duty, which becomes the input price for Maruti and excise duty ha’f mbe*: e
on the full value of car. This is known as the cascading effect, that is, @€ incrs” se;f
manufacturing cost and get again taxed. g pre
'fhe government has tried to address the issue by reducing the slabs of exast aﬂ;}ﬂ sta
and lower excise duty on essentials or mass goods to minimize the fe%fcsfi"e o o go
to the cascading effect, the best way to prevent it is by introdud?’t (hmgn* =
roductio? R

(VAT) which is a tax on the value additions at each stage of P
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An 00 DVAT
v (MOD ) scheme which allowed pa

ddf‘ G . i ] A “dn h
1T W« St ) al aq g the .

1 _however, it Was restrictive in nature, T i"““m“"“ifdun“ modificd valye
goods

urch 3 e L ove

.Pwi er schem¢ of input _Crcdl-t for the excise dmicg crhment replaced MOy

At pvices) purchased for direct use in DVAT with
ls, capital goods

value added 1y

s inputs (
Production known 4 -
aS central

32ENVAﬂ at the central level during 2004
| ajor refrrm has been at the state lcv;:l with th

VAL The credit for this goes to Shri. Asim Das Gf e re
engal and €7 be hailed as a landmark in tax rc=.f'cnrhrlr1pst:ll

Beng

AWhy it is 2 major refor

e

{ €

rfPlaccmcnt of sales tax with a state VAT. The sales tax regi
reglmc was \(ery .
COmphca[ed with

Jifferent s;_;lcs i ra)tes for same products in different states, A
oduct On€ taX rate’ across all states and to drive a consensu .f state VAT required ‘one
some STates would stand to gain and others would tend t(:l or this was herculean effort
[fina particular state sales tax was a high of say 24 per c:;ﬁ) \
2 state VAT was only 12.5 per cent for that good clearly there wc:l[l(; ;cc:;i:nsusl unc;cr
uc 10ss for

that state government.
Stace VAT made effective from 1 April 2005 has the following salient features:

(1) State VAT is not a new tax but only 2 change in the way of collecting tax from the

final stage t0 the value addition stage.
This allows for set-off of duties from the tax payable but against original invoices/

@)
challans of the tax paid on the inputs purchased. :
(3) There would be 2 uniform 4 per cent state VAT on 270 mass-consumed goods across

1l states, a uniform VAT of 12.5 per cent on 280 goods and 1 per cent on gold and

silver ornaments across all states.
(4) Those with a turnover of Z5 lakh and less would not be liable for any VAT, from X5

to 50 lakh a composite tax but with no set-off VAT is pay:_abl_e_fq; turnover exceeding

350 lakhs.

Thestate VAT has helped in checking tax evasion by introducing
n, increased revenue for the state government. Furcher,

in tax administration and collectio .
ing to integrate taxing of goods and

as part of deeper reforms, the government is proposi e
ly into one tax with one tax rate as goo& HH

services at differential rate separat , i
tax (GST) with both the centre and states taxing concurrently as the central goveramett
GST (CGGST) and the state govcrnment GST (SGGS:T)' large the tax base for larger
This would considerably simplify the indirect % regime, €N’ deand
fesource generation and t GST rate resultmijm
services bur also in ensurin for the gos\*[l::‘w )
proposes to implement the [ fas;:;oil:‘am direct tax
states and technology put i P . Re orST would place [ndia
government’s proposa-l of p ropc“mg::onomics of the West.

lax regime at par with other mature

a ‘bill culture’, transparency

in lower prices does of 8o
nt not t0 suffer. The govcmme}r:t
ith the

broad based
rcs are commcndablc and the

with an efficient indirect

hus lower

B
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TAX REFORMS—-DIRECT TAXES

Direct taxes as secn carlicr contribute 55 per €€n
ressive in nature ane
wing to Bret
cs p;mu;
ture.

jon

t of the @ rever

ed on
evenuit w
come tax is progressj

1 bas
reate’ r
ularly 11

wav of taxation as it i 3
: ation as it is prog ith least burden ¢

income, i’“"g”-'\‘-‘-i\'(‘h" more the tax rate le:
the masses or those with low incomec. Direct tax
and in contrast to other taxes which are regressive in !!ﬂ

The progressivity of income taxes in periods f)r inflat
bracket, as pay packets get inflated due t© 1"ﬂmmnhrcsn
reduced spending by the individuals. On one hand, thf:’z:hcr i
because of people moving up the tax bracket and on the 3

This phenomenon is known as “Fiscal drag - )
rers in the €

How many people do you chink are 122 Pa; Indian €c
% § n
At present, 3.5 per cent are tax payers in 1€

= Jii : ber is low ﬁpﬂti
population of over one billion peop]c. This nur'fl i i
India in its growing economy> with increased "“‘I;OI ::om i

. =113 1 -]
and large number joining the elite billionaire club. In P

has only increased by 11 per cent.
What are the ways through which
could be three ways through which it can

(1) Increase in the direct tax rates.
(2) Increasein the tax base.
(3) Enforce tax compliance-

pushes people up the

conomy?

the number of tax

tax payers and

be increased and are as follows:

Increase in Tax Rate

is seen negatively and res
and revenue generated. Starting from

ively related and increases tax revenue.
ecomes counter-productive as it

Any increase in tax rate
relationship berween the direct tax rate

rate and gradually increasing it, is posit
beyond a level, any increase in tax rates b
revenue rather than in increasing it. This is po

An economy being-on the Laffer curve im

Jower the tax revenue and on the contrary |
revenue for the government. It is widely believe

limited prospects of raising taxes.
This is because high tax rates lead to tax evasion, non-disclosure of

g;ncranon of black money (taxes not paid). All efforts are made to mi
0 . - - - - o

. axes legally and illegally. It serves as a disincentive in the economy leadin
of income and the output. Hence, raising tax rates is not an option av

Increase in Tax Base

Tax base refers to that threshold level of income on which taxes b
has an exemption level, that is, if income is less than 1.6 lakh ®1.9

ecome applicad e.]

Jakh for womed)

yue and it is 2 better
A .
Gbility o Pay. higher the

mn
ve

tay

lting in higher taxes paid ang

ffers of the government fills o

is a reduced spendip
&

onomy, about 31.5 million i,

ally considering the fact tha

middle class, the affluent d::
5

Payer

tax revenue can be increased? Ty,
2 There

ented by the -people. There is alsy

a low oy
HUWE\'QI,
lowers m

pularly known as the ‘Laffer curve.

plies that any increase in tax rates woul
owering of tax rate would lead to increwsed
d that India is on the Laffer curve wit

income and

nimize the incidenct

g o lowering

ailable in India.

ndie

un
the

tra
m
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orc i
At present the exemption level i

yflacion does not fflcmr .in o8t of t:d]uccry lov\: BIven the
have incrﬂa“d manifold in recent times creatip 'P'";“"Pun “a
rnidd[c class to make both the ends meet, Lowc{’.. .
the middle ::1:155 and more so by this iy ri
yers’ but not necessarily tax revenue’ 5
The other way to increase the tax bas
with the possible exception

aking i 1.
”123 It d]mcl

l‘lg thc ex
CMption w
‘lllld f“l.'
th

it ma i
¥ be possible (o in

¢ is to bring
Al g b of the agricflm ulntaxec‘ Sectors under th
2 i A tura e ta
culture being a secto X net,
net. Agr 1 g a state subject can be taxed I iy rare already under the |
-_ t ax
by the central government. Thus, like Increasing tax rate Y the state governmen and ng
]
t

i i isi i even ; ]
feasible option for raising direct tax revenue in India €f Increasing tax base is noy
A E

Epsuring Tax Compliance g z
e~ ql.les'tion that, is every person who ought to pay taxes i : J-v-’
taxes in terms of existing laws and the second are the people wh}r axes is paying his/her o
1 . . (8] . o

actually be paying taxes. This is what is meant by rax Complian‘;:r-;h r;o;)\fmg shm;lld

: : mment has e

made an initiation by making the income tax return form user fri
dl =
by an individual and it is known as “Saral’. riendly and easy to fill up \
The problem in India is that of tax compliance with lot of leakages, large-scale tax
evasion and black money. It is estimated that over 40 per cent of GDP is black money
which is circulating in the economy on which no taxes are paid.

EEEJ BLACK MONEY

Black money has nothing to do with the colour except to convey that it is necessarily an
earned through illegal channels and put to unproductive

evil. It is an unaccounted income,
cking black money and rax evasion

anti-national use and conspicuous consumption. Che
are the critical aspects of tax compliance.
Black money gets generated when big transactions

and end use not possible to ascertain. For example, a fri
e not so in your case b

h, source
f%1000.

is small.

are performed in cas
end gives you cash o
ecause the amount

Technically, it is black money: may b '
However, say somebody gives 10 lakh in cash its definitely blai{? zr?clceimi beyond
ayments have to be m il differentdy

In other way, all transactions where P Or ¢
a level of say 310,000 and above if done in cash is blz;Ckf:‘o“c)
tmﬂsacrionslperformed other than by way of cheques, drafts

‘ slack money: and
direct transfers of mo ney in bank a be bl: (unless 3

4 cheque of
don’. Thus,
te black

ccounts would 1 plack money
ot depeatt TL0 18 g i - 355‘;}““ ;tf*t.rhcr sends you
i Oll i«
until if you show the source from where you g0° i0). | Yt . is a ‘whit¢ transac
t.hC same amount and y'Oll deposit itin )'O'Ul" bal‘lk accodunos[ ofﬁces WOUld gcncra
n
tansactions performed other than through banks and P™
mongey, .

2 T BN
L P T
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Why does black money get B¢
generation is high tax rates, complex
transactions, large amoun
property deals in cash. need for mo?
departments, donations required for ad
needs, COmPlllsions nf‘s‘ncial rlll'll..'li(""s

outside the country.

What has the govern ment ¢
mes and giving
ted currencies. (Rec
ntinued and
has also declar

jonc to curl
disclosure sche :
higher denomina
have now been disco
The government
through cheques/drafts.

£50,000 in one
and it is mandatory t© quote the
fices at the

The income tax O
se Of tax Payel's an

creating a daraba
Jand deals, credit card

offices registering
ation beyond ac
ew to have

ode which would simpli
furcher lower

rnish inform

required to fu
ment with a vi

The govern
proposing the direct tax C

raise exemption levels an
compliance will be a major

d consider
constraint to

yerated?

t of cash dealing. P€
ey to g€t jobs
mission !

and als

Drafts would not

four MELros ha
d transactions

TN 131w rras - —
— can

The primary reason for the black mone
rax laws and pr:wisinns, strict  controls y
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[13.9] VIEWS ON TAX COMPLIANCE
ple do not want to pay taxes? Paying taxes globallyi
i

(1) Has it ever occurred why peo
hands with the government to provide better for

a matter of pride and joining

masses and im

(2) That is, because, people

productively for the masscs. Tax ¢

on the government lesser lavish spe
towards the spending for masses.

proved civic amenities.
doubt the intentions of the government in using i

ompliance would thus require austerity measurs

Not so in India.

nding and more responsiveness and sensitivenss

Have you ever seen any top political leak

(3) Tax compliance should be top-driven.
bureaucrat going to file his income tax return at the IT office in-

not requi i ‘ g

e ;ug;d f)fﬁclllally tl::ut it sends the right message to people that how i
pite their busy schedule. Who i

_ : . Who is the first
election? ' : person 5
the right It is the President, Prime Minister and other top leaders
" .

essage to the people to come out and cast their vote.

{

(4) H '
ence tax compliance should start right from the top. The President,

(5) Whoi i '

is the highest tax payer in the country? It is difficult to say or even MO
events the 8%
t:on‘tribﬁ“i”Il f

t
ﬁ:} Is:yhv;l:o a1:e the top 100 tax payers in the country. What pr
ouring them at a public ceremony acknowledging their

person. Nol it

is of hig

en as voting in

Why? Justo”

pM, O
i

GY""

natioﬂal
raxes:
Wha't if
deﬁnite]
from e
the PO
peoplﬂ
rcgurns
[t is NO
be sent
is a.vail:
incent
@ Ourk
punis}
of wh

and a

(6

(7)

While tax
help augm
income at

What i

without b

B buoyan

chan
E effective
C cost-eff
N-neutra

The prese
for indire
complian
Of l'_l'le gcr
is a requi

The ¢
governm
ministrie
Spending
make the

in thc la]

Typical

We hay
budger,

Scanned by CamScanner



oV

ariO““]‘ cause? It will transmi
n
(axes:

What
(6) 3 Bﬁ nite

l 0s o Mla A
gl'l 5 “1 ¢y
] Iﬂltl\'L S ll l(.'tl'l.l'[‘

f i ;ll'(: pe
H 2 I A
1 onc 1§ seen b}' ones frie l'l-d or

e relative . )
l}' not bC pUSltl\'C, Thc bl)l‘CC“Jtinn i "l\c “‘ll:nmc t;

“f tlhc '“ %
2 s 7 T a8 a tay ev 1Come ¢. S s
' from greating CVEryonc as a tx evader to thay of x offici; ,
Trust, a friend gu * BOL10 chapge
8 )

v . )
: the P"Ople' Let them have "May 1 help you counter’ ay the iding ang SUppor
e may want. They could send out staff 1 aece; ttheir offices fo - porting

P e should not be difficult but coyld

S N correctly fI:
y £0 a lnng wa Ctly ﬁ'ung their
. ifficult to find out regular tax.p: Y I increasing ¢
£ [c s nOt chﬁ;1 b k gular tax payers, o small well-worded t#’ h': compliance
1 each time a > . an
: he sent to ther ter they have filed their retyy Today tech )i’ﬂu card can
. 4y, techno ()gy su
pport

. a\railal Je to generate such computerized letters. What is being meanc hat th
- s ' s eant i
et for a tax payer to pay his taxes, a mere token of appreciation C:nfcw‘s Ik:m )
S g) Qur olicies for tax evasion can be said to be ‘sofy What i S
( : Is required is stro g
. ‘ ; 5 n
: i t for tax evaders, those generating black money uniform for all irrespecti
Qur P o ; ec
un lc” er political leader, bureaucrat, private organization, etc lesson
] bt ]

of W ) to serve as a lesson
| and a source of discouragement.
2
X liance would remain an issue, still th - ;
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3 1 - * ; .o
is What is 2an efficient tax system? An efficient tax system should allow for raising revenue
S5 ~ ithout burdening the common man. It should provide for BECN briefed as below:
wi :
X

B buoyancy (raise tax revenue with increased growth of an economy rather than by

changing the tax rates).
- E cffectiveness (promoting tax co

c-effective (lower cost of collection with .
ns (not influencing location o

mpliancc).
increased tax revenue). =
£ businesses). =

C cos al
N-neutral to economic decisio

and
W
M

- . the righe direction ofa GST =
1 t irection o S
) gk ving and movingin the righ : : S
he The present tax structure in India is still e"?l 8 . Whileall these efforts at increasing tax %g
i— T ot for;lm?a o i‘tich should also get adequate attention \:“E%
. . ; re are other issues W : e csing Thee =
1t liance are appreciable the . o ously inct ;
cc;rzlp o nmeﬁfand i S p— Sy 1151 i ns at lmzrrer COSES. =
res of the gover : il o :
i 5 nt to arrest this trend and ensure hlgher iy there is scope for rationalizing
€ess is a requireme e h inflexibility of cxpcndlture, oy " it 1 ring
The other is given the oo the requirement for so m vt
e e £ “Pcnditum by rc‘{:eﬁ{ ; of yacant postS; gtcater aUSfelrltzutq which \\'ould
okt olition of ; , o small cut o
g ey B shiarhs: tocetS herever feasible. It 1S thes lcieal compulsions
. spending and small expenditurc cuts wherever hould prcvail over po
ie" mak th i larger. And for once economics $
an SRAKGITE picture larger. oy ,
ad in the larger interests of the e
e

hie Typical Budget in India

iCult We have covered publiC.CK
ent process. A tyP!

Scanned by CamScanner



Economic Survey presented in the Pﬂrliﬂmcnf](a Fm[v days before the
i roposals and fing]
. which is followed by the expenditure proj nally the tax Dm::lm?l

terms of the
is presented) :
i iously awaited by all. . - )
Whj:s:ll; ;’;:(:pi:‘ ?IZD:thecof1omy are retained in the consolidated fund of | ndia 5
can be utilized only after the budget is passed by bc:;‘h the 1‘;011565 (-)f Pa.rliam ent . '::1[‘"?
that Parliament provides approval for various expenditure and permits wj thdray,| "Ffun:
= by,

m i enses can be | 4
: : e economy. Certain exp fhiciay .
for various expenditure needs of th _ Y :
EXpendh X

h“

(4
government without the approval of Parliament and are known as charged
such as meeting interest obligations, salaries and emoluments to constitutionally APpoiy,

heads such as chief justice of India, CVC, CAG, etc. |

There are two other kinds of budgets interim and vote on accour.lt. Interim is 5 king o
budget addressed for a period less than a full yeaf‘. Vote on account is not a typ-e Ofbudge.‘
strictly, but seeks approval for ongoing expenditure necds,_r-lo fresh expenditure ¢ e
proposals. This is normally presented when the government is about to face election, "
when the time period is too short even for an interim budget to be presented. In any e

the choice of the type of budget to be presently lies with the government.
In case, election date has already been announced the election commission is €MpPowered

to restrain the government from presenting an interim budget but present a vote o
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account only. Traditionally, budgets are shrouded with secrecy and it lacks transparengy,
There should be greater and broader participation of people from all walks of life to ensyr

budgets being prepared are not only of the government but also of the people.
The budgets are focused on ‘outlays’ or spending under different heads but no provision

is made to know the ‘outcome’ of such spending. The other aspect is the outlays are not
ple, the budget might propose increased outlay of

mparison to an increase of only ¥50 crores in the
ntion of how much actually needs to be spent on

linked to the actual need. For exam
say 100 crores on education in co
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The budgets year after year ‘get engaged in micro issues for example taxes on tooth
pastes, etc., which is not required. The budget may address broad issues of the rax rates
or should be more macro-oriented

in general rather than go into the minutest of details
and micro-detailing done through annexures, for 4 better understanding of the underlying

macro-issues in a budget.
Such reforms in the budgetary process itself also need to be integrated as part of the
larger reforms. All the reforms in the country are around the government bur not in the

government.



